H & 0l & AHS B Ml A

20248 =0il& LEHSIH ot 2te| ot

S SRl
I dejotd xd
e =E5E dE=sd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ot 2te| ot 11,960,216 10,881,4%6 1,078,720
= 689,000
[ 735,000
= 4,555,500
Al 5,980,716
MEfote = 11,228,139 10,126,800 1,101,339
= 689,000
[ 735,000
= 4,540,000
Al 5,264,139
Ed dE=E 23,000 24,000 21,000
Ed =A2 23,000 24,000 A1,000
201 Ler=23 | 6,000 7,000 A1,000
2 s5=34l 6,000 7,000 1,000
oLsd dies S 6,000
401 Al HIZ S OHbI 17,000 17,000
01 A28l 17,000 17,000
O=+& ZLIHY & =EHa3id & 49 17,000
ot e 6,515,139 7,952,800 1,437,661
= 689,000
[ 735,000
= 2,840,000
Al 2,251,139
HENSE RXA2tel 60,000 60,000 0
206 MH=Hl 30,000 30,000
01 MZH| 30,000 30,000
OdEotE F A2l 30,000
308 AXIHMSOIA 30,000 0 30,000
183 SIS U ZB XA AIE 30,000 0 30,000
OdHiotd 82 & &1 30,000
MENGHE (AIE S Q) 22 200,000 200,000
401 AIEHIYL S HY 200,000 200,000
01 Al&HI 200,000 200,000
OYENSHE (A EZ ) 22 200,000
AGHE HHIAF (HEALY) 20,000 20,000 0
401 AIE2BIXL S THYI 20,000 20,000
01 Al&H| 20,000 20,000
O2otd ZHIAY 20,000
S MY RA=2= 360,000 360,000 0
s 180,000
Al 180,000
401 AIEHIZ SR OHYI 360,000 360,000 0




FA: otd 2|t
HE: MEHSHE X4
Che: ot &el EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 180,000
Al 180,000
01 Al&H| 360,000 360,000 0
OstE MY FX2= 360,000
= 180,000
Al 180,000
Agotd eZdsl 251,000 300,000 249,000
401 Al HIZ S OHbI 251,000 300,000 /49,000
01 AlZ2H| 250,000 299,000 49,000
OXlgotd eZ 3| 250,000
03 Al 20HHI 1,000 1,000 0
OXlgotd =FEH| 1,000
HENotEEE 25 € 29 NE 107,285 65,000 42,285
307 elztol & 107,285 65,000 42,285
02 2B YA E X 12,000 12,000 0
OMEHIEE S 8= 12,000
03 PIZHHEE 22X 95,285 53,000 42,285
OHMEHIEE S 2SI 95,285
=Itotd =X 2= 612,000 520,000 92,000
= 612,000
401 AIEHIX SO 612,000 520,000 92,000
= 612,000
01 Al&H| 611,000 519,000 92,000
O=Jlotd {2+ 611,000
= 611,000
03 Al 20HHI 1,000 1,000 0
O=Jlotd 72+ 1,000
= 1,000
otMGt= Med] FStAtY 110,000 110,000 0
= 77,000
Al 33,000
101 e124d| 92,000 92,000 0
= 64,400
Al 27,600
M ORIMZZ2NSE S 92,000 92,000 0
Ovdtdst= X¢0] otk 92,000
= 64,400
Al 27,600
201 er=23y| 18,000 18,000 0
= 12,600
Al 5,400
01 AtR2t2|HI 18,000 18,000 0




FA: otE 2|t
B MEGHE A4
=HSE (EH9): ®2)
SA - B BRA(SH) - HRA - of v e HIDE2
Odtas+ 40| atAr 18,000
= 12,600
Al 5,400
AT dEoH SEAY AtE2ic 20,000 20,000
401 Al HIZ S OHHI 20,000 20,000
01 A28l 20,000 20,000
O8d HEfold SIS Atz 2l 20,000
a8 BXE0] 2l 30,000 30,000 0
206 M=H| 30,000 30,000
01 MHZH| 30,000 30,000
odd BR=0l 2el 30,000
HF=H - & F ool ot=FHIA 712,000 560,000 162,000
401 AIE2HIXL S CHYI 712,000 550,000 162,000
01 Al&H| 712,000 550,000 162,000
OdFA - & Moo ot=IHIA 712,000
= 231 212 S7AY 150,000 150,000
401 Al HIZ S OHbI 150,000 150,000
01 AlZ2H| 150,000 150,000
O&=& 231 Q2 o=+ At 150,000
SUloH XIgotd Mol =-AHE 61,854 61,854
401 A2 HIRL 201 61,854 61,854
01 Al&HI 61,854 61,854
20238 =< Ulol XIYotE ol =SAS 61,854
=8 =82 d S22l 200,000 0 200,000
101 @124H| 36,000 36,000
MU IIRIMZZENSES 36,000 36,000
QJIZNZ22 X 2= 36,000
201 ZBt=3hl 149,000 149,000
01 AtR2te|HI 66,000 66,000
Otf=8rd =Xl 66,000
2 S52g4l 83,000 0 83,000
OHi=8"d HJI2= S 83,000
401 AIEHIZL S0 15,000 15,000
01 Al&H| 15,000 15,000
Otfi+=82d FXA2el 15,000
NLStEEH (2EH) (HEAL) 700,000 0 700,000
= 700,000
401 AlEHIZL R0 700,000 0 700,000
= 700,000
01 A28l 560,000 0 560,000
OXILotEEHI(REH) 560,000
== 560,000




FA: otd 2|t
HE: MEHSHE X4
Che: ot &el EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 Zeltl 140,000 0 140,000
OXgstdEbI(*EH) 140,000
= 140,000
NLSHEFHI(OtSE) (M EALY) 1,680,000 0 1,680,000
== 1,680,000
401 Al HIZ S OHYI 1,680,000 0 1,680,000
== 1,680,000
01 Al&HI 1,400,000 0 1,400,000
OXstdEEI(OtsH) 1,400,000
= 1,400,000
02 Zeltl 280,000 0 280,000
OXLstdEEI(OtsH) 280,000
= 280,000
ZALE THoH A X+ EHIAL 980,000 1,768,000 A788,000
= 700,000
=S 280,000
401 Al HIZL 01| 980,000 1,768,000 A788,000
= 700,000
== 280,000
01 Al&H| 980,000 1,768,000 A788,000
OABAIE Mol IS X+ FHIAE 980,000
= 700,000
& 280,000
Aot&EHl SEHE 189,000 0 189,000
401 AIEHIZ SR OHYI 189,000 189,000
01 Al&HI 189,000 189,000
O4-otd gl S +8 189,000
aotd NS HSAAE 70,000 70,000 0
= 35,000
Al 35,000
401 AlEHIZ 2018 70,000 70,000 0
= 35,000
Al 35,000
01 A28l 70,000 70,000 0
2ot NHS+9 HASAAE 70,000
[ 35,000
Al 35,000
ot Zte| HRFA 2,000 1,800 200
203 gF=4| 2,000 1,800 200
03 A=A =] 2,000 1,800 200
Opotd el e 2,000
eI 990,000 450,000 540,000




2A:

HE: MESHE X4
el oldEdone EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
old SSaEA XY 500,000 200,000 300,000
401 Al HIZL 201 500,000 200,000 300,000
01 Al&HI 500,000 200,000 300,000
Ootd SS3Ed XA 500,000
HE=H - 4E S A 490,000 250,000 240,000
401 AIEHIX R0 490,000 250,000 240,000
01 A28l 490,000 250,000 240,000
Od=d, a4d 2BIHE At 490,000
Ol=d dE=E 3,700,000 1,700,000 2,000,000
[ 1,700,000
Al 2,000,000
HESIE =S 2A (OIS ) (MEHAL) 3,700,000 1,700,000 2,000,000
= 1,700,000
Al 2,000,000
401 Al HIZ 2018 3,700,000 1,700,000 2,000,000
= 1,700,000
Al 2,000,000
01 AlZH| 3,300,000 1,302,000 1,998,000
OMEiGIE =AY (0IEH) 3,300,000
= 1,500,000
Al 1,800,000
02 2/l 400,000 398,000 2,000
OMENGIE S A (0ISH) 400,000
< 200,000
Al 200,000
=HEd 2K 704,000 726,000 22,000
== 15,500
Al 688,500
ESRR S Ryl 704,000 726,000 22,000
< 16,500
Al 688,500
HEQEMZAIE |2t 366,000 366,000 0
201 er23| 366,000 366,000
02 S5=2g4l 366,000 356,000
OHIEQEMTAIE Al 356,000
LIDAIE 2ULIHE & FAl12 180,000 200,000 /20,000
201 eer23y| 180,000 200,000 A20,000
02 S3=gHl 180,000 200,000 /20,000
OLIDAIE ZLIEE & =Xl 180,000
25X dHSE 2¢ 108,000 110,000 /2,000
201 et 3| 108,000 110,000 /2,000
01 At22t2l] 18,000 20,000 22,000
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